IT. Factoring Trinomials:
Type 2: Polynomials of the form ax® + bx +c 0\4; /

» Most efficient technique to factor most trinomials of this form
is a process know as "DECOMPOSITION".

Consider the binomial product: (34 + 4)(2h + 1)
We can use the distributive property to expand:
(B3h+4)(2h+ 1) =3h(2h+ 1) + 4(2h + 1)
=6k + 3h+8h+4
=6l + 11h+ 4

To factor 6% + 11h + 4 by decomposition, we reverse the steps above.



How well do we understand??

Fully factor the following as quickly as possible! :/
Factor * /—\@2 -L" A
(R 2 Bara 4] =4

X Qi | Nt la,+ by + 3

(Zg_t_ +1 (X'I-\) ?( st \
Q(’H (axh . }“ bd‘j/%\-ﬂ"a*‘l

ORI ,.“-—"0 4. 3b*—13b+4 7;.; 7:/73
25’-/05 Lts Wk (ab-lbyy T

2b(b-s —s) 35(__‘/ 1(6—4
6-59%-8 (b ~y3/ 3 ) )



*5. 21 —1-10 6. 3p°—16p+5

t@:tis\ 3 (?t—s)
Q*'SXH »
* —4

7. 12" -T7y+1 8. 2t°+5t-1
244 P3¢ ~ /2,

H(tag)actey)

(6” A 24-3)



Factoring Special Polynomials

IIT. Perfect Square Trinomials:

Square each of the following binomials:

'Y:L(x +li)2 (5x+4)2 (3)«7—1)2
"X tex t9 D2tYoxtlh = DGyt
= ) gt %é‘rf Q:Qck&' uafes =

A Part of 1¥X L Ronfaf lort Dabled 2, ? 5e

Factor the foIIowW%;j%v2 + 48w+ 64 ‘{3
Pls~A:

Plan R ot Tw2te t 2hs 61
(3?4 %{ﬁ:’i Sw(Eut 8yt 8(&»@
Q%‘\nw . (3»01‘%Y3g #%}

i ff o (-?u H%l



We say that a®> + 2ab + I is a perfect square trinomial.
The square of the 1st term in the binomial
Twice the product of the first and second terms in the binomial
l The square of the 2nd term in the binomial
¢

(a+ b)?*=a*+ 2ab+

How will we reverse this process and FACTOR a perfect square trinomial?
So <+
Factor the following trinomial:  25w? + 40w +16

= (S'u'l-‘/'\y



Factor each of the following if possible:

1. x* +8x+16 2. y*—18y+ 3. 100h” +20bh+1

G (y- ﬁ‘\"" ( by /Y
4. 9x* +42x+49 5. X+ 22xk+121k7 X’ +8x° +16

(s 2” (+1)° ( (x{" )

7. x°3° —14x° +49 8. 3x%+30x+75 \*7 0. BN +18ab+ 95

b= Apmis) (w3
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